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0.3 Read the following passage carelully and answer the questions given al the end. (20)

Globalization is viewed by its proponents as a process of cementing economic, cultural and political bonds between peoples of
different countries of the warld. One may regard it as a process by which they are welded into a single world society, to be termed
as global society. Tt means internationalization of production and labour leading to integration of econamies af developing and
developed countries into global economy. To quote Rosaberth M Kanter, “The world is becoming a global shopping mall in which
ideas and products are available everywhere al the same time.”

Globalisntion is a natural vulcome of computer nelworking and elecirome mass communicution. Inlormation technology has made
il possible for nations ol the world o contact one anolher bevond their natonal borders. Besides, globalisaton s also promoled
through the growth and proliferation of mullinaional companies and corporalions thal operite as trnsporler networks. Anyhow the
Now ol capital wechnology snd lnbour ueross the borders of countres hus accentuated the process of globalization,

Deregulation, liberulism and privataation beng assiduously pursued in the developing countries are some other manileswions ol
globalization, These counines are opening Lheir cconomies Lo follow these trends, The size ol the public sector is shrinking lor the
privale seelor W gssume an incrcasingly important role in the ceonomic development of the Third World countries. The downsicing
ol the public sector is in line with the spinl of markel ceonomy, This is suggested as a measure W0 cover up their lseal delicn

Questinns: {4 marks ench)
I, Define globalization 2 What is electronic mass communication™
Y What does the term Third World denote? 4. What is privatization?

5 Explain ‘liberalism” in the above context,
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ans is correct but the single sentence ans is incorrect format
ans is short too

ans is short and a typical ans 

ans is correct but the ans is too short 

attend to the pointed out mistakes
not satisfactory 5/20




